Summary of ASIC defects in Japan

e Dead 15 « Sawtooth 3
« STUCKCELL 8 ¢ Block of "partbonded" 14
« LGS(Cold,Ish=30uA) 41 « Others 5
« LGS(Cold,Ish=20uA) 7
* TrimDAQIloadingFailed 3 « Total(as of 1 Sep.) 90
* Negative offset 21
« High offset 5
* Low gain (<45mV/{C) 2

 Abnormal cal line 7

SCT week, 03/09/23 1



ID =776 :Dead : M00 :Z40800-W04-192

Before trim

ATLAS SCT Module Test: Response vs. Channel - Thu Dec 19 12:27:11 2002
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ATLAS SCT Module Test: Response vs. Channel - Thu Dec 19 13:08:36 2002
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ATLAS SCT Scan Comparison - log scale
Run 7099 Scan 28 Module 2 Stream 0 (Projection of ch 0 to ch 767) v
Run 7099 Scan 28 Module 2 Stream 1 (Projection of ch 0 to ch 767)
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Before trim

ID = 1358 :Stuck cell : E05 :Z41089-W02-219

ATLAS SCT Module Test: Response vs. Channel - Fri Apr 04 09:48:16 2003 - UNKNOWN - Module 6000000009
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Page1 Run 7069 Start Scan 24 Module 3 Stream 0 - Type.

‘ ATLAS SCT Module Test: Respanse vs. Channel - Fri Apr 04 10:31:49 2003 - UNKNOWN - Module 60000000001358hDaf
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ATLAS SCT Scan Comparison - log scale
Run 7069 Scan 28 Module 3 Stream 0 (Proj of ch 0 toch 767} vs
Run 7069 Scan 28 Module 3 Stream 1 (Proj ofch0t- -0 277
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ID=1216 :Large gain spread : S09 :Z40862-W13-69
Before trim

ATLAS SCT Module Test: Response vs. Channel - Wed Mar 12 19:57:16 2003 - UNKNOWN - Module 600000000
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Run 7011 Scan 28 Module 5 Stream 0 (Projection of ch 0 to ch 767) vs

| ATLAS SCT Module Test: Response vs. Channel - Wed Mar 12 20:33:41 2003 - UNKNOWN - Module 60000000001216h0: | ATLAS SCT Scan Comparison - log scale
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ID = 1689 :TrimDAC loading failed : S11 :Z41084-W09-87

Before trim

ATLCAS SCT Module Test: Response vs. Channel - Wed Jul 23 13:06:25 2003 - KEK
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ATLAS SCT Module Test: Response vs. Channel - Wed Jul 23 13:45:29 2003 - KEK
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TSl 3 7

i o]

o 100 200 00 1
I Gain at 2.001C
f s
i om
= 55
e
45
an
3
n
25
ZDIl 100 200 0

| Extrapolated Offset

T |

W A

s..,.._.r._“,
ERSN=R=R=N-NE

0 100 200 300 400 500 00

W Wire

(@ warm & cold

3 ASICs (3%)

After trim (Noise : Threshold Curve @0fC)

ATLAS SCT Scan Comparison - fog scale

Run 7312 Scan 31 Module 3 Stream 0 (Projection of ch 0 to ch 767) vs
Run 7312 Scan 31 Module 3 Stream 1 {Projection of ch 0 to ch 767)
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Before trim

1664 :Negative Offset : S12 :Z41084-W07-40

- KEK
Page 3 Run 8060
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ATLAS SCT Module Test: Response vs. Channel - Tue Jul 22 10:16:53 2003 - KEK
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ATLAS SCT Scan Comparison - log scale
Run 8060 Scan 28 Module 0 Stream 0 (Projection of ch 0 to ch 767) vs
Run 8060 Scan 28 Module 0 Stream 1 (Projection of ch 0 to ch 767)
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ID =590 :High Offset : M08 :Z40615-W23-145

Before trim

ATLAS SCT Module Test: Response vs. Channel - Tue Oct 29 11:46:58 2002
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After trim (Response Curve)

ATLAS SCT Module Test: Response vs. Channel - Tue Oct 29 12:23:19 2002
Page 3 Run 6502 Start Scan 24 Module 4 Stream 1- Type.
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ATLAS SCT Scan Comparison - lag scale
Run 6502 Scan 28 Module 4 Stream O (Projection of ch 0 to ch 767) vs
Run 6502 Scan 28 Module 4 Stream 1 (Projection of ch 0 to ch 767)
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Before trim

ID =1070 :Low gain : S02 :Z41125-W07-56

ATLAS SCT Module Test: Response vs. Channel - Mon Jun 23 16:49:37 2003 - KEK
Page 1 Run 7953 Start Scan 13 Stream 0 Module 1 (60000000001070hDagPR) - Type .
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After trim (Response Curve)

ATLAS SCT Module Test: Response vs. Channel - Mon Jun 23 17:09:21 2003
Run 7953 Start Scan 24 Stream 0 Module 1 (60000000001070hDagPR) - Type .
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ATLAS SCT Scan Comparison - log scale
Run 7953 Scan 28 Module 1 Stream 0 (Projection of ch 0 to ch 767) vs
Run 7953 Scan 28 Module 1 Stream 1 (Projection of ch 0 to ch 767)
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ID =1413 :Abnormal cal. line : S04 :Z41083-W01-29

Before trim

ATLAS SCT Module Test: Response vs. Channel - Tue May 27 10:20:36 2003 - KEK
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ATLAS SCT Module Test: Response vs. Channel - Tue May 27 10:29:55 2003
Page 1 Run 7878 Start Scan 24 Stream 0 Module 1 (60000000001413hDagPR) - Type .
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Run 7878 Scan 28 Module 1 Stream 0 (Projection of ch 0 to ch 767) vs
Run 7878 Scan 28 Module 1 Stream 1 (Projection of ch 0 to ch 767)
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ID = 1413 :Abnormal cal. line : S04 :Z41083-W01-29
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Before trim

ATLAS SCT Module Test: Response vs. Channel - Tue Jun 10 16:00:06 2003
Page 3 Run 7938 Start Scan 13 Stream 1 Module 0 (60000000001434hDaqgPR) - Type .
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ATLAS SCT Module Test: Response vs. Channel - Tue Jun 10 16:25:34 2003
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ATLAS SCT Scan Comparison - log scale
Run 7938 Scan 28 Module 0 Stream 0 (Projection of ch 0 to ch 767} vs
Run 7938 Scan 28 Module 0 Stream 1 (Projection of ch 0 to ch 767)
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ID = 1434 :SAWTOOQOTH s-curve: S10 :Z41036-W19-30
After trim (Noise : Threshold Curve @0{C)
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Before trim

ATLAS SCT Module Test: Response vs. Channel - Thu Jul 17 13:48:21 2003 - KEK

Page 1 Run 7292 Start Scan 13 Stream ¢ Module 5 (60000000001679hDaqgPRL) - Type .
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ATLAS SCT Module Test: Response vs. Channel - Thu Jul 17 14:35:07 2003 - KEK

Page 1 Run 7292 Start Scan 24 Stream ¢ Module 5 (60000000001679hDagPRL) - Type .
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ATLAS SCT Scan Comparison - log scale
Run 7292 Scan 31 Module 5 Stream 0 (Projection of ch 0 to ch 767) vs
Run 7292 Scan 31 Module 5 Stream 1 (Projection of ch 0 to ch 767)
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ID = 1679 :Block of "partbonded": M00+S02 :Z40973-W20-148,152

14 ASICs (16%)
Response Curve (@cold Ish=30 A Response Curve @cold Ish=20 A
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ID = 1679 :Block of "partbonded": M00+S02 :Z40973-W20-148,152
14 ASICs (16%))
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